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KEK Bern feedback u

Or any other ethics committee

B. Prim&rer Endpunkt: Der gewahlte ,primary outcome’, ,safety’, (Protokoll 11.1) ist mit max 25 Patien.ten per
Definition nicht mit gentigend engem Vertrauensintervall erfassbar. (Dose-limiting toxicity ware z.B. eine
erfassbare Alternative).

- Eine Begriindung fur die Patientenzahl muss vorliegen.

= Seite 21, Kapitel 8.5:es fehlt die Fallzahlberechnung aufgrund des als relevant zu betrach-
tenden Unterschieds beim Primarparameter zwischen den beiden Behandlungsgruppen,
womit die Anzahl Patienten begriindet wird.
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Frequentist

- Null hypothesis significance testing
A CTU Lecture 06/2018
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Framework of this lecture u

Frequentist

- Null hypothesis significance testing
A CTU Lecture 06/2018

- Parameter of interest e.g. treatment effect is unknown but fixed (no
uncertainty)

- A parameter estimate e.g. treatment effect estimate from a clinical
trial has a distribution (uncertainty)

- The given experiment is one realization of an infinite number (repetition)
of the same experiment



Null hypothesis testing u
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"Truth (known)"

Null hypothesis is Alternative hypothesis

true IS true
Reject the null _
GE) (D J< 2) Type | error, Correct conclusion
3 false positive = Power
5
© Do not reject the
17 : Type Il error,
o hull Correct conclusion _
= _ false negative
(p >/= a)




Sample size calculation of a controlled trial U
In a perfect world

ave unlimited resources and no feasibility restrictions
udy design

ine outcome measure o %
y effect muglsstatlstlcal analysis approach (test) ‘
error (alpha) at 0.05 (or even 0.005) A7 2

~ 1A ..

P
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control group) event rate____
8. Determine difference tf
9. Ifthere are.une
A Sample size




Sample size calculation
An Interative process with different aspects

Fix
number

of  USNNSINTIIN Define
centers e ey e
eligibility

criteria
Assess
recruitment

»

Fix effect
measurceNtIne:-3 Define
primary

outcome
Fix timepoint(s)
& assessments
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What does power mean? u

- Given that alternative
hypothesis is true e.g. no
difference

- Probability of rejecting null
hypothesis

- Repetition




Example using repetition
Simulation
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- Power: 80%; placebo response rate: 40%; effect: 10% improvement
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Sample size calculation of a controlled trial U
In a perfect world

ave unlimited resources and no feasibility restrictions
udy design
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7. Know the between-participant varian ‘ {
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Continuous ou
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Influence of difference
Continuous outcomes (variance/SD fixed)

Estimated total sample size for a two-sample means test

t test assa,minlg U
Ho: > €=, versus H.. , el ; €
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Par amet e0b,s :1-8p,=5300, &0 =
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Influence of between-participant variance
Continuous outcomes (difference fixed)

Trial 1: mean difference=20, SD=10, SMD=2.0

——— Treated
Control
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Total Cholesterol, mg/dL

Trial 2: mean difference =20, SD =40, SMD=05
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Trial 3: mean difference =20, SD=100, SMD=0.2

200 250 20 900 320 240 360 380
Total Cholesterol, mg/dL




Influence of between-participant variance
Continuous outcomes (difference fixed)

Estimated total sample size for a two-sample means test

t test assap,md nly U
Ho: -, €=, versus H. , el ; €

800
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Par amet e0b,s :1-8p =§20,=,=300, ,=280
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Difference & variance u

Continuous outcomes

Total sample size for a two-sample means test

t test assamE nlg U
Ho: , &=, versus H. . ¢l, ¢
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Binary outcomes




